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TNSET 2024
Module Name : General Paper
Exam Date : 07-Mar-2025 Batch : 09:00-12:00
Sr. No. General Paper
PAPER I

1 Which of the following 'Principles' help to plan the learning processes and arrange suitable learning experiences to achieve maximum gains in terms of growth

and development of the learners ?

(1) Proceeding from general to specific responses
(2) Predictability

(3) Interaction

(4) Integration

&HMHMEL QFWeWemMmS FLLIAB6USNHS, LTS 6 T aueTFFS nmmith GO 19657 iq 1L ul6v Blemmeu et
LIW6eTQLM, SI6UTSHETSI &MM6L S ealLIeUmI&HeneT HILLLAL, LN6T 61(H6eU6TaIMMIGT 6Telelemd & MILILY/G & T6T60) 8 & 6T

2 565 60TM6oT?

(1) QUITGIEUTeT &leLVHIGSH N BHS GMUILNLL SeVHSEDHSHEGEF QFNGH6,

) Y&t plahey GUISS! L6 Sl lq 86001185560

3) @weurflen LG Lifleug e 6ot

(4) 62 (I %15 60)600T & & 6V

A (1) and (2) only correct
1 LHMILD 2 LG &Fifl
B: (1) and (3) only correct
1 Hmib 3 Kb &Fifl
C: (2)and (3) only correct
2 10MmmIh 3 L @D &ifl
D: (1) and (4) only correct
1 LDHMILD 4 LG &Fifl
Given below are two statements regarding the characteristics of adolescence.
Statement (I)Adolescents are consistant in their emotional expressions.

Statment (II)An addescent learns to reason and seeks answer to 'how' and 'why' of everything scientifically.
Choose the correct options.

QUG @) 6TLDLIHEUSE 60T LI6UoT LG 6T QGITLFTLITET @) J6uor(h) SnMMIGH6T SCL Q&TH &8 LILIL (B 6TemeoT.

FaMml I: U6T @ 6TDLIH6USH 6T HhIG6T 2 6ol j&F QauerfliLmm&serflev Emerelfaser.

Famml 11: ueTy @ 6mhL[HeUSH 6T LGS S enelss SHmid Q& MeTHMmTISET, TeveumelMmmIm &L 6N @hehmeor [FE wIms 'eTliLLg’
LOMHMILD '6J63T" 6T6OT LIS M &M LIGlenevs CHH R MTI&6IT.

Fiflwmer e@BLiLG Coiellener C5THSOHH &L,

A Statement (I) is correct but Statement (II) is incorrect

Fa Do 1 FIWIMTETS SL60TMTEV G MM 11 &6)MITETSI.
B: Statement (I) is incorrect but Statement (II) is correct
FnMml 1 HEUMITETS S,60TT6V Fo MM 1T FiflUIMeoTSI.
C: Both Statement (I) and Statement (II) are incorrect
FnHMI 1 LDHMID FnMMI 1T @) T60oT(HILD &6UMITEUTENE.
D: Both Statement (I) and Statement (II) are correct
Fnmm 1 LDHMID S MHmi 11 @ Tevor(RILD &l meoTeme
3 If the students can identify the relationship between the individual facts and principles generalised out of the facts, then it is the characteristic of
2 aorenlngefedBhHa QUTEIenUILHSSLILLL SeoflliLL L 2 600Temnn&6T IDMMID Q& TETem &8 EH &G @)enLuileumeor
2_MEM6 LOITETTEU TG ETITEV 60 LLITETLD &HIT600T (LD [H TV, Sl 6TGUTGVITLO.

A Memory level of teaching
&HMLY5 569 60T [Bl60)60T6AUS [Bl60I6V
B: Understanding level of teaching
&HLIS 5606 Liifl 56 Blaney
C: Reflective level of teaching
&HL5560 6T LTS LI Blemey
D: Application level of teaching
&M% 56596 LiweTUmL () Blenev
4 Epitemology is the study of .
fleurymFESR u w6y eredTLIG umalw Lig O

A Philosophy
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SHSHgleld
B: Knowledge
Simley
C: Physics
@uimLNwiev
D: Values
WS I &6
5 Effective teachers should possess and that set them apart not only from non-professionals but also from ineffective teachers.
Fmennwimeor <A flwrsser LMD AGAWRIMHENME Q&MY (B85 CalaT(hILD. @) &I 6T en 6T

Qs wamm eveumgeauFasef L lmhE L (HLoeev, Hmenwwmm A FlwisefLd®hsibh CamuUbhsSIRmS.

A Skills and competence
FeTaH6T LHOLD &S
B: Leadership and competence
SHMVMGSIULD LHMID &S5
C: [Interest and skill
SpJauld O Hmedr
D: Attitude and satisfaction

LOGOTLILITEdTemLO LD M MILD LOEDTBl6m M6

6 Match the types of Quantitative research :
List-1 List-ll
(1) Descriptive Survey Research (i) Ex-post-facto research
(2) Correlation Research (i) Cause-effect relationship between two

or more variables

(3] Casual-comparative Research (i) Degree of relationship between two or
more variables

(4) Experimental Research (iv) Try to answer questions about the
current status of a phenomenon

Choose the comrect answer from the following :

26176 2y, TTLIEF susmBHEemaT ClLM(HSHSHeLD.
uLiguisv | uLiguisv Il
(1) efenss apiiey ) Henass NbeosL
S TTgd| a6
(2) OBTLTY QLymLEs (i) @resr() Sieveugl ABME
Gomul L mms (ke
@lenLGuiwimsnr STyesor
sflemeney 2 mey.
(3) &myewr - @UILEH (i) @Sl SeveusI SBSHE
oyl Gmul L omm) (ke
@emLulleursnr 2 medlsdr
(4) uflGengener oLumiEd (i) @ Blseilew
SHGLTenSHIL Hlemev
BDISS CasallsEhs e
uslevefléas (puwmd
ClFlisen

sflwmer eN(HULSCHTeNemest CaT6 GlFuwiwia|ib.

A 1-(0), 2-(i), 3-(iii), 4-(iv)
1-(i), 2-(ii), 3-(ii), 4-(iv)
B: 1-(iv), 2-(iii), 3-(i), 4-(ii)
1-(iv), 2-(iii), 3-(i), 4-(ii)
C: 1(ii), 2-(), 3-(iv), 4-(iii)
1-(if), 2-(1), 3-(iv), 4~(iii)
D 1-(iv), 2-(iii), 3-(ii), 4-(i)
1-(iv), 2-(iii), 3-(ii), 4-(i)
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Match the following types of research with its meaning :

Types of Research Meaning

(1) Applied Research (i) Better understanding of the concept and
provides direction to initiate a more.

(2) Exploratory Research (i) Structured research aims at elucidating the data
and primary characteristics.

(3) Descriptive Research (i) Concerned with exploring the effect of one
variable on another,

(4) Casval Research (iv) The goalis action oriented and focus on
immediate results.

Choose the correct options :

L68TeU(HLD Sy, TTILIEFFIEEMETT 6UENSHSHEMET HS60T ol LIM(HEHLSET bl LIM(HEHS5)8:

S TMUEF] 616518586 Glum(meir
(1) ClFwsuTss oyl (i) &3@?}6&;}3 g;a‘fr@ o
Lfbgibl&msiteug) LoMMILD,
6TETITEID) |6USH M (&, cuLflsemer
; - UPRGHDS.
(2)  SwWey T (i) SLLemEsILLL

Y TTLES ST6 LMD
(LS EBTEMLD LIGTHTL| & 6W6TT
Clsefleyublsgiouens
GmmTHsLLTS
Clameuor(Hlemsmay).
(3) eNlemdswmeT Qg (i) @ wIPluilsir aNemsmemeu
wmelmmeTmley
ET ATV
SESHEMDWITES @)(155H56V.
(4) BHOFWeTET UITLESF  (jv) @EVEHETETE), LG EmS
FMIHSHST(SHLD, Gy
2 L aurly (Lplpa&erilsy
&HeUeTTLD GlFeVIHHIEHIMS).

gflwumet ef(HLULSCHTelemenT GH TGS (H.

Az (D-(), (2)-(ii), (3)-(iii), (4)-(iv)
1-(1), 2-(ii), 3-(iii), 4-(iv)
B: (D)-(iv), (2)-(iii), (3)-(i), (4)-(i)
1-(iv), 2-(iii), 3-(ii), 4-(i)
C: (D-D),2)-(D), 3)-(iv), (4)-(iii)
1-(ii), 2-(), 3-(iv), 4-(iii)
D (D-(iv), (2)-(i), (3)-(ib), (4)-(iii)
1-(iv), 2-(i), 3-(ii), 4-(iii)
8 Read the following statements.
Statement I Historical method is a method to study and interpret the basic relationship between variables

Statement IT Phenomenological research uses a method of investigation to discover, describe and interpret the past
Choose the correct answer.

LN 60TeU(BLD ForHMIGHERET LILG 85856 LD.

FaMml I: QUFEVTHMI (LDEMM 6T60T LIS LTI & EBHE & @) 6m L UNeumer g LILImL 2 memnel SUle| QFUIS, eNeTs @G @@ (LM
2AGLD.

Famml 1I: Blapeiluley QLITMUIFR eTeTLSI, SLHS SHTevsans &euor b, elleurfls g, allend @ eus masmer e 6l & T ren suor
WenmeWL LWeTUBGSSIRMmS!.

Frflwmer eN@BLiLg CaFellener CHTHOS M.

A': Both Statement I and Statement II are correct

Famm 1 &l HmID Samm I @resor@GIh &ifl.

B: Statement I is correct but Statement II is incorrect

Famml 1 &Fifloermey Gnmmi I Saiml.

C: Both Statement I and Statement II are incorrect

Fa MM I LDMHMILD Fo MM 1T @) FeooT(H LD Heuml.

D: Statement I is incorrect but Statement II is correct
FaMml 1 HeUMI 66V MMl I FflWITETS).

9 Given below are two statements
Statement I The popular report is one which gives emphasis on complexity and attractiveness
Statement II It should be sought through clear writing, minimization of technical, mathematical details and liberal use of charts and diagrams
Choose the correct answer from the options given below :
@\ T600T(H) FnMMIG 56T BCLD Q&HT(HEHSLILIL (H6T6T60T.
Fammi I: Nyueunmer nfl&ens Fl&860meT SeTemin WMHMILD FILILNHG WEHERWSSIaD Q&ETHSERMS!.
Famml 1I: Qgerflalmer eNWws S, QS TLEL LI, 5600115 6o BISHemeTs &enmesev nmmID 6dlems & LILILBISET Mo
QUEMTLIL MG 6N 60T STFmemLomeot LW edTUIM(H 28 weumnilev eneulb G5 L LiLL Geuetor(hlLbD.
EC Q&ETH&&LILL (HeTer allpLILG CaTeysefledmba Filwmer LUHanesd CHIHOSEH &&H6LD.
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10

A Both Statement I and Statement II are correct

Famm 1 LDMHMID S MMI I @ TeooT(HILD &l WmeTemel.
B: Both Statement I and Statement II are incorrect

FnHMI 1 LDHMID FonMMI 11 @) T600T(HILD &6UMITEUTENE.
C: Statement I is correct but Statement II is incorrect

Famm 1 FIWITETS SLETMEV Fa MM 11 &6)MITEOTSI.
D: Statement I is incorrect but Statement II is correct

FnMM 1 HEUMITETS S,60TT6V MM 1T FiflulmeTss!.

Which of the following is the blue print of the detailed procedures of testing the hypothesis and analyzing the obtained data ?
LY etraumeuesrmnilev 618! &(HSICHMemeT CFMHILSDHEGID QUMLILILL SFelsener UG LILTIIe QFUleugsH@&Dh ellifleumsor
BemL (e MU 6T blue print 2,&LD?

A: Research Design

QLTTUFR aulg el
B: Sampling Design

WrH I aulgeuemoLiL]
C: Research Proposal

ATTLUER WeTQwmidley
D: Sampling Frame

WrH I SaTG &G FL LGN

A person or an institution that addresses a large audience is :
LB CHL GG CUELIAT S{6V6VEl S eMLOLIL|

A': Artistics proofs

G606V [ €1H LI 600T 618 61T

B: Ethos
5LD LI & & 60T60) L0
C: Rhetor
Qemmaurdlelmery
D : Pathos

2 _eorj&EF Gaul_emss

Kinesics is the study of the relationships between :
(I) Body motion

(IT) Facial expressions

(IIT) Para language

(IV) Communication

slengailwefluey eTeTLIZ @eumnilev eTEHMEGLD @) emL GUILLITET Q& TLF6mLI QbJ TULD SIenMWITEGLD?
(i) 2_L6L QWIESLD

(i) P& QeuerflLiLm®

(i) Blemevor QoML

(iv) H&H6U6V QS TLFL

A: (D), (II) and (IIT) only
i, ii, LDMMILD iii LOL_(HILD
B: (II), (IIT) and (IV) only
C: (D) and (IV) only
i MHMID iv L HILD
D: (I) and (III) only
i LDMMILD iii DL (HILD
The destiny of mass communication is largely determined by the values and ethical behaviour of

QaUGRET H56160 QSTLFLI6T allfH QLBLUMID FLIL&ET Inmmild QBMlenm LS &a&Earme Grnmeafl&sas UGS mal

A Mass communicators

QUGB HHEU6 Q&L JLIMETF&6T
B: Journalists

LGS [760) 85 ULIIT6IT [7 85 61T

C: Directors
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QW& G BIGEH6T
D: Administrators
Bleum& &er
14 Given below are two statements :

Statement (i) : You send messages not only by words or gestures but also by the clothes you wear and your physical appearance.
Statement (ii) : Most of the time, people communicate without thinking.
In light of the above statements, choose the most appropriate answer from the options given below :

GECL @ Tetor(h FoMMIGHET Q&M (H &S LILIL (H 6T6T6DT.

Fa Dl I: BRIGET QUITTS S5 6T 26V6VSI 60)F &S 6T CLNEVLDMS LOL (HILDEVEVITLOE, BB 6T 2600f 1D &,60)L_&56iT LDMHMID 2 L6V
B MMHMEH 60T CLNEVINTH LD QF UIT &6 eIl IS NIT&6T.

Fa Mol IT: QUG LIMeVT6T GBI MG 16V, L& &6T FHHEHHMTON FH6U) QSTLTL Q&BTETHMTIHET.

GLOM G 60T oD MG 6M6ME H(HSF 6V Q& TeoT(h BCL Q&THIGHSELILL LB 6Ter el LiLmki&6rfledBhg W& LD GLIMIH5 LMot
afemLenwisd CHIHOSH &&HLD.

A: Both Statements (i) and (ii) are true
Fa MMl 1 LDMHMILD So MM 11 @) TevoT(HLD 2_600T60ILO.
B: Both Statements (i) and (ii) are false
FaHMI 1 LDHMID FaMMI 1T @) T600T(HILD &6UMITEUTENE.
C: Statement (i) is true but Statement (ii) is false
FoMMI [ 2_600T6MLD 24,6076V S MM 11 HeUMI.
D: Statement (i) is false but Statement (ii) is true
T MM I H6UMI SL60TTEV Fa MM 11 2_600T6mLN.

15 What is a key characteristics of mass culture's production and distribution ?

QUGN GMFFTISSH 6T 2 MUSH MM NGNS SS 60T (LN&SH U LIGTOTL| 6T60T60T?

A: Handmade and exclusive

M&WITEL QEFWILL L LN ysSHGuissLnmesr
B: Artisanal and limited
& 66mEoTEhIT LDMHMILD 66D TUIMIG&HLILIL L
C: Mass production and mass distribution
QaUGRT 2 MHLSH IHmILD GG eger all Bl GuImsLD
D: Locally produced and regionally distributed
2 dreeBy 2 MUSS wmmib LNgmHHW FHWTe lBICWTR &SI L G
16

An express bus travelled at an average speed of 75 km/hr, stopping for 3 minutes after every 50 km. An ordinary bus travelled at an average speed of 40 km/hr,

stopping for 1 minute after every 20 km. If the buses began travelling at the same time, how many kilometers did the ordinary bus travel in the time it took the
express bus to travel 450 kilometers ?

eml&G 75 B.18. srrer] CassHe QFaaiid e allemreall CLBHS! el 50 .S L (HEHEG NG 3 BIAL KIS EE5 G
BosslUu@R M. enll&EE 40 B8, srmerf] CalssH 6 QFaaIlD e &FMGMIeT CLI[BHS! 6@ 20 &).L51 L ([(H& G0
Wma 1 BIALLD Bloiss UG, CUGHSISH6T @CF CHISHH 6 Liwienileas o, TnLEsme, 450 H G WL L F5&6T STTSm5S
Lwenllsa allemge] CLIBHES! 6T(h &SR & MeTEbLD CBHISH 6V, FTSHTT6r CLI(BHES! 6185560607 HG6UIT LT L [J&HET LiWI6uot1&@&Lh?
A 248 kilometers

248 @GeuIT LSL_LJ&6IT
B: 248.5 kilometers

248.5 B CeuIT LSL_LJ& 6T
C: 247 kilometers

247 RCeuIT LS L J&H6IT
D: 274 kilometers

274 @GeuIT LSL_L &6

Arrange the fractions in descending order :
11 13 2]

Z T I8 21 ; : ; . s
-, —, — ., — er6tTm L96ITESTRIGEDET Y] en&FUIl6L 6r 5.
6 B I o Qo i @3l

AL o7 13 A
87" 61" 117" 190
11 7 13 2]
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B: 7 11 13 2

17" 190

oy
o)
~

61" 87° 117' 190
C: 7 13 21 1]

61" 1177 190" 87
7 13

:
e T

61 11

7
D: 21 1@ ¢ 7

. :

190" 117" 87" 61
o1 ¥ 01T 7
190" 117" 877 61
18 if(x+y):(x-y)=7:3, then the ratio (x*+v3) : (x>-y3) is
(x+y) : (x-y)=7 : 3 7660 (P+y7) : (x3-y%) 66T BB LD
A: 133
117
133
117
B: 130
129
130
129
C:
102
141
102
D: 132
119
132
119
19 A man purchased a car for Rs. 2,00,000 and sold it for Rs. 3,25,000. What is the percent profit he made on the car ?
@@BaIT &MY €h.2,00,000-MH & GUMHEIS SMS €1h.3,25,000D& DA MTH. el &MY ellMHLIGSET eeuh QUMM ML F5aisLD
6TEUG6TEY?
A: 60%
60%
B: 61.5%
61.5%
C: 62%
62%
D: 62.5%
62.5%
20

The average of five numbers is 8. The average of first two numbers is 3 and the average of last two numbers is 13.5.
What is the third number ?

b eTevorgerfledr Frmeflmesl 8. P&V @ Tevor(h eTevorgerfledt Frmefl 3 LnMHmILD &L & @ revor(h) eTevoraerfleor Fymaif] 13.5
6T6ufl6V ELNEOTMITEU S 6TET0T 6TEOTEOT?

A

joe]
S e N I
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D: 8
8
21 All household pets are domestic animals. NO unicorns are domestic animals. Therefore some Unicorns are not household pets. Which type of formal fallacy
committed in the above argument ?
"ef_® Q&Feveull LT Tenl&6T 2emears i 6f () 66k G a6 6% eHemnme Q&ML 6f 6 616Vk 86T 21606 eTaTGo
Flev @MHEnME QIGTINLIETSET 65 (B QF6vev LN meoufl g6 3 6vev"
GLDB6V 2_6Te QUMEHSH 6V 6THG 66 & LITeT FIDLINTSTW Saum FOILL G 6Teng?
A Existential
Q®S560 w6
B: Affirming the Consequent
erallemerey 2 m1H Q&UIS60
C: Denying the antecedent
(P ETGEOTITIY 6D W LD IS 6V
D: Drawing affirmative Conclusion from negative Premises.
THImemm QUGS Tl BH & FHmE Q& TS H886 (Igeilemest GLIMIGe6
22 Statement : There is a shortage of power in India

Courses of Action :

1. There should be more power projects initiated by the government

II. The government should encourage private investment in power projects
Which is the correct option ?

Famol: @HH W mellev L6T MMM EGenm 2 _6Tengl.

BLAIY&6ME STTETHIGET I 9J& A& W2 HLSH e QS TLHIS Caussor(hLb.
11 et B Lmiss6rfleb Seoflwmy Wn&6eSL el SiJa 2618 @688 Coustor(®Ib.

e1&l grflwimeor efl@BLILILD

A olny I follows
I LG CwW Kerummih
B: only II follows
II o HCw LeTummih
C: bothIand II follows
I oMM 1T §) Fesor(B GLo LedTLIh milD
D : neither I nor II follows
I DM MILD 11 §) Fesor(G GLo LedrLIH M.

23 Statements :
Some bags are purses. All purses are containers all containers are suitcases.
Conclusions :
1. Some suitcases are bags
II. All purses are bags
III. All Purses are suitcases
(IV) Some containers are purses

Flev LIGET LITENVGHET, 9| 6M6oTSH G LIT6N & @BLD Gl&MelT8: 606018 6T (Containers) 2{60)60T& Sl G 85 TETEH 606078 @HLD &L G&H eV G6IT.
W96 &6T: I Fl6L GL CHENVGET 60LIG6T
11 6TELEVIT LIJ6IV & EBLD 60)LIS6IT
111 6T6LEVIT LIFENVGHEBLD G G861V 86T
IV 816V Q& TETSHEVEITH6IT LIT6N & 6T
A: Only L II and III follows
L 11 lopmid I L HIGW GHeHEGLD
B: Only II and III Follows
11 LnHMILD T L (HID @) (HEH G LD
C: OnlyIand III follows
I LMo 11 L GIL Q&G0
D: OnlylI, III, and IV follows
L III Lnmmild TV (LD @ (& & LD
24 If it rains, the cricket match will be cancelled. Which of the following conclusion can be drawn from the above statement ?
e QUUISTE, AflGa &L GUITLLY @THE QFwwliu@LD.
GM&ETL Famev @ BHS! LN6Teu(BLD 6THS (LDL6mel 6T(H1& 8 (LDIGU|LD

A If the cricket match is not cancelled, then it is not raining.

AflHesL CUTLIgemW @S5S QFWIWTeill L6 enp QUUIWITS.
B: Itis raining now.

SHCUMTEI Lnenp QUUISR S

C: The cricket match is not cancelled.
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AfHas CUTLY §rss QaFwliLL_elsemev.

D: Ifitis not raining, the cricket match will still be cancelled.
Wenlp QUUIWMeILLmevld, BfléQasL CUTL LY @ 6aTelld @IsHs QWG M.

25 Statements : Some blades are razors.
All razors are axes.
Conclusions : I : Some axes are blades
11 : Some blades are axes.
Choose the correct option :

FaMHmIG6T: Flev LNICeT(h&6T CIF 56T QL& LD.
6TeLEVLIT CIFT&HEHLD &ML MIGHET o1& LD
WI9e|&6T: 1 Fev CaHTLMG6T LIGeT(H &6 9b,GLD.
I Alev LNCeT(H&6T CHITL I G6T 2 @&LD.

A only conclusion I follows
W©ee| 1L HIGL QEHEGLD
B: Only conclusion II follows
e II GG @ @HSH G LD
C: BothI & II follows
e 1 OMID [ IO EL GBS G0
D : Neither I nor II follows
W19 I LDMHMILD 1T G Fevor(HICL @) (HEHHTSI.

26 There are several way to analysis summary data. The analysis chosen with depend in large part on :
BT6OSHMET HEH0&HEGBSS LGLUTIR QFWaSMHE L6y allblseT 2_6TeTer. 31560 GLIHLLIMGIE 6uSLILIGT 6Temne6 6T6T
L9 6dT6 (1B LIGu 60TeU D MI6T ST L0Menil& 860 Geustor(HLD.
A': Whether it was a pralablastic or non parabolic. Survey
9|5 Bl&LSH6] SLUIAIT 36060 B&LDSEHE|SFTTIT S, UI6IT 6TeT LIS
B: How many response were received
N6 @mHE QUMLILIL L LIS 6VE6IT 6188 60)60T
C: When the a majority of questions were open - ended or closed - ended question
BaeTel g6 QUEBLOLITaILD HMBSHG 66T 26V6vE BMHS (D196 SI6V6VE CLOIGLLI (LDL.6)SEITIT 6T60T LIS
D: All the above
TS SILD
27 The following figure relate to cost of construction of a house in Delhi :
Items Cement Steel Bricks Timber Labour Miscellaneous
Expenditure (%) 20 18 10 15 25 12
If the above data is represented in a ple diagram, what is the central angle for Timber sector 2
&Gy QanlesiulL ystefl eflsugmims, Slsusiluiisy g s slflausharsr Crsailammsansars GOSN EEIDS.
Glum(meT Hlllwetorl | siutesy | ClerusmhseT | WD | 2oy | @sr
GIECRHSTIRBAN |5 18 10 15 |25 12
(%)
Bihs srey sul L sflemasiugsles GOl iul Lme, wis gienmnasneT whHw Comemmb eemar?
A: 723
72.3
B: 64.5
64.5
C: 36.0
36.0
D: 54.0
54.0
28 Given below are two statements :

Statement I : Data originally collected for an investigation are known as primary data.

Statement II : The process of assembling primary data is called collection of statistics.

Choose the most appropriate answer from the options given below :

@\ 76vor(h 2 MG &S ET BCLD Q&TH &&LILIL (BH6TET.

NG s I aflemrenenruiley CFaflaaLILL L $T6), (PS6TemLD SI6y 6Teol SMIWLILIOR M,

NG S II: (PSHETENLD HTenel QFMTGHEHGLD QF W6 WenMITaTg LaTetlulwey CaFa&IfILIL 6Tam enp&H&LILGHMS.
&6 OsmO&s UL Gdrer allpLiLmkiIsem e ®Ghs L&a|h QUTHSSLT LFame CHIHaS50.

A: Statement I is correct but statement II is incorrect

N G605 [ FIfWMETS! 2L,60TM60 N &emas 11 HaUmmeTsl
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B: Statement I is incorrect but statement II is correct

N G605 [ HeUMTETSI 60TV SIM&enas 11 Fiflwimestg
C: Both statement I and statement II are correct
MG s [ nHoID SiMl&enss 11 @ Tesor®\h &l meoren e
D: Both statement I and statement II are incorrect
MG s [ InMHMILD SiMl&ena I @ TeuoT(HD &6l MmTeTen 6l
29 When the statistical investigator collects the data from published sources then such data is known as data.

Leerflefleury Ljevestmiieumerd QaueflufL it L epeviisefleddha Srenel CasfleGh CUNS!, SH5m&W &6

A': Primary data
W56 Blenev S6y
B: First-hand data
Ws 6|
C: Questionnaire data
afleorm LI 19 uIed6dT ST6)
D: Secondary data
@\ JETOTLITLD Blemev Se

30 Which one of the following do not comes under the mode of classification ?

G LD 60T L6 M MI6T LIGLILTIIG| alemnaulleT BLp aITT&H Sl 6T51?

A': Geographical classification
yaflwWlwev umrgum@®
B: One-way classification
@ euldll LMGUTH
C: Qualitative classification
LieooTL| 66U I 6T Q& meooT(h LIMTG LM S SIS
D: Quantitative classification
6T6uoT eNl6U IS 6IT Q& Metor(h) LIMG LB S S8
31 Which technology helps to host a website ?
6THS QSHTIHELEILLILD ([ aUeMEVS FaTdHend LIHGaMMLID Q&F UL 2 o &Hma?

A Arttificial Intelligence
QEFWIM6en G Hl6voreuot M6y
B: Cloud computing

GLn& & &euoflemin

C: BigData
QUGHSTE
D: Block chain
QEHTGHF FhIG o
32 Repeater is a device that receives and or a signal.
(i) amplifies

(ii) rebroadcasts

(iii) increases

(iv) retransmits

LOB2_HeUTHSR), LNemevor i &Ll&emEhemn L] QLM m lVeugl )
() AUBSS SIS DS

(i) O @eAUFLILUE DS

(iii) AP &HWTHH 9IRS

(iv) SeooT(HILD S ILILBMSI.

A (i) and (ii)

(i) O DD (ii)
B: (i) and (iii)

(i) LoD ILD (iii)
C: (i) and (iii)

(i) LOMILD (iii)
D: (ii) and (iv)

(if) LDHAYLD (iv)

33 Name the E-governance theory, which depends on the idea of 'data is control' ?
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B76] eTetTLS HLGILILMGSSID 2L MHMEV' 6T65TM & (HSHEMS 319 LILIM L UITEE Q& MeuorL LO6T 21L,@henin G& ML LT 6T51?

A: SMOG Theory
GLGLOME G&HIMTLLIMQ)
B: VIRGA Theory
alljsm GamLum@
C: RAINBOW Theory
QuierCuUm @& mLum®
D: KYTDON Theory
& BeoT GHTLLMGH
34 Which one of the following Learning Management System (LMS) is an open-source software ?
B & &L alMMIeL 6751 QeueflliLIemL enev BlFev QLD6TRILIMIH6T 61 & SHMMeL GLOGVTEIITEN LD emLOLIL|?

A: Blackboard
ferrmss QUL
B: Moodle
ep@ev
C: Desire 2 Learn
196 & LI 2 6VIT60T
D: Adobe Captivate Prime
SCLTI G119 Caul LNemyid
35 Which of the following is the web-browser ?
(i) Opera
(ii) Safari

(iii) Google chrome
(iv) Gmail

G LD 55 600TL6U M MI6T 6151 G)6m600T WL 2_6umeil?
(1) geugm
(i) F&UMIf
(iil) FoG 6T GGITLD
(iv) BlQwuiev
A: (i) and (iv)
(i) LLODID (iv)
B: (i), (ii) and (iv)
(D), (iHLHIILD (iv)
C: (ii) and (iv)
(if) LD DD (iv)
D: (i), (i) and (iii)
(@), (i) LoD YLD (i)
36 Which of the following have 90% of sand and silt and also10% of clay fall under soil textural classification ?
GELDEGE00TL R 616M& LOETOT S{6MLOLIL] 6UeM&LILITL 19 UI69160 90% LOGTOTEV LM MILD 616TITL 6V 861D, 10% &6rflL06woT G\&5 T6uoT LS.

A: Endosol
6T600T GLT&F M6V
B: Inceptisol

@)60T QF LG &FIT6V

C: Oxisol
EYR: 35331 )]
D: Mollisal
QLOMed&Fmey
37 Given below are two statements :

Statement I : The excessive level of pesticide residues in fruits, milk, eggs and vegetables are responsible for diseases like cancer, sterility even deaths.
Statement II : Polychlorinated biphenyl is a best example.

FECL @ TetT® AN &MNGHSHT Q&HTH &E&LILL B ETeTS!:

Fa Dol (SIM1&6m&) I: LIPHIGET, LIT6V, (L6 MmmID &Tilsn&erfley oS sl wmeT LERG&Meed eT&aFmigs6r LhmiCHTl
VL (H S S6TemLn, LDMMILD LOF6euorLD GLITETMeUM &G & ITT6uor LTS 60T M 60T,

Tyl (SIM&ema) I1: Lmed&GGemmflGeTL L L énLi&LT60Tme) @& ME& (b FMHS 2 G TFesori.

A . Both statement I and statement II are correct

MG s [ InmMID SiMl&emss 11 1n FiflwimeTenel
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B: Both statement I and statement II are incorrect

N Gem s [ InMHMILD SIM&emas 11 &6 MITETen 6l
C: Statement I is correct but statement II is incorrect

MG s [ LG Flwmerg Siml&emnss 1 &eUmTers)
D: Statement I is incorrect but statement II is correct

N G605 [ HOUMTETS!, 60T M6V AN &em & 11 FiflumeoTS!

38 Which one of the following properties of the Soil vitally influences the distribution of soil organisms ?
LD 65T 60071 60T 651D &5 856007 L 116007 L| 5561160 6p60TmI (LD & 6dTem WIS LoeooT 2 Ul ifl 6ot i & 61l 60T @) (&5 &6t 6u LD el [J6) & 6m6u UL LD
2 0HUILESSH DS
A Stability
Ble06v 5 & 60TenILD
B: Colour
BImid
C: Density
SILISH
D: Texture
SlemLoLIL]
39 Statement - I Animal reintroduction involves release of animals either born in captivity or caught in infancy from wild.

Statement - II Reintroduction efforts have fruitful in American Bison, white tailed sea eagle, spry etc.
Choose the best answer of the statements.

FammiI:

alleumIG&6T LM AMWSELD eTaTLS AenmLg &ELILLL 20608 GLRHenS LIHalsH e ;Bha! L1966 1L L 6leukiE e en 6T
STL19690@mBES aflhaillienL 2 6TeTL &S WS

Fo MOl 11:

M SMWE WWHF &6T LCaum alleuiigasefle Lievaralla®Rmg. siemel HOWl&s L6V 6T, QaleTanarelme &L &(W &,
eI GUIMETMema6

FlWITeoT FaMMIGEH6T CHIHOSH &.

A': Both statements are incorrect
@B FaMM&sEHI0 &Fiflwcey

B: Both statements are correct
QG FHO&SHEHLD Fifl

C: Statements I is correct, statements II is incorrect
Famm 1 &, sammi I Fifluicvey

D : Statement I is incorrect, statement II is correct
Famm 1 Fflweven, Fammi 11 &l

40 How many numbers of small Island developing states have ratified by National Determined Contribution in the Paris Agreement ?
urmilenu 2 L 6L 86008 WIl60T LILY. 6TTHG 6T600T6001 186008 & 61160 F1MIWL eueTHLD H6y BT(H &6 CHFIW emellev HFLomeotl&a LI L
uniiserfliiysefley LBICHMHMSI?

A: 10
10
B: 20
20
C: 30
30
D: 40
40

41

Match the Biosphere Reserves of India and the Location

List I List Il
Biosphere Reserve Location
i. Nanda Devi a.  Meghalaya
ii. Sundarbans b. Assam
iii. Nokrek C Uttar Pradesh

iv. Manas d. West Bengal
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@nHwrefest 2 uNFESMeT STLILISMISST LMHMILD 4&H60T G(HLLNLSmSLI GlILIM([HSHELLD

2 uNjs&Gasimer @@L
SITULSLD
(i) mHsTEze (a) Gussmsowir
(i) &b TeU6TTLD (b) ©Emb
(i) GmrraGrs () =sHsrurGssd
(iv) LoesTmey (d) Gom) surkISTEITLD

A i-b, ii-c, iii-a, iv-d
i-b, ii-c, iii-a, iv-d
B: i-c,ii-b, iii-d, iv-a
i-c, ii-b, iii-d, iv-a
C: i-c, ii-d, iii-a, iv-b
i-c, ii-d, iii-a, iv-b
D: i-d, ii-a, iii-c, iv-b
i-d, ii-a, iii-c, iv-b
42 The first committee on Religious and Moral education under the chairmanship of Shri. Prakashji was found in

LD TBIG 6T WMHMID LRI (& sevallenil QLT mULD &WeuTers S, LN7ameq el ofeuraerfler 56mwemmujleu
9,600T(H) SMNGSHLILIL LS.

A 1949
1949
B: 1951
1951
C: 1959
1959
D: 1963
1963
43 Which among the following is not the distinct stage of development of Values ?

LYetraupelestaumnile 618! LG 1L 85 6rfl60T euem &G Ul 6o &6ofl& S16LI0TeDT [Bl6016V 26060?

A': Pre-moral stage
(PeT-L0HLIL] Blemev
B: Conventional rule conformity
QP& & Lnmer NS U6 55 Blaney
C: Stage of Moral autonomy
ST &wml_ G uller Blemev
D: Post-Moral Stage
LNer-L0& 1L Blemev
44 Zahiruddin Muhammad Babar, the founder of Mughal empire, was a scholar of .
wasemwl Gurgeng Bloelw gradl@ale wawg uruy _ Qumd / Qumdsefle snerns HEDHST.

A: Arabic
2yd

B: Arabic and Persian
7L mHoID QUITS wiesT
C: Arabic, Persian and Hindi
<7y, QUIFRWET H oD anfHH
D : Arabic, Persian and Turkish
7L, QUIFRIWET LMHMID FI[HES
45 Lord Curzon passed the Indian universities Act on .
&iFeT LTy @HHWL LSHMVGESNESF FL LGS 2T BlemmBeumnileor .
A April 20, 1882
gLIT6L 20, 1882
B: June2l, 1884
g6t 21, 1884
C: January 27, 1902
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sgeorauf] 27, 1902
D: March 21, 1904

IDTHE 21, 1904
Case Study from Question No. 46 to Question No. 50

PASSAGE

Al-driven world - Vipradheer Reddy Maale

THE HINDU

sep 03, 2023

The boom has inspired tech giants to build their own Al programs into their products.

In the era of Artificial Intelligence, any human being with a smartphone and proper internet connection can make his or her day-to-day life simpler. Any doubts
which springs up in an individual, Artificial Intelligence is clearing it in an organised manner. Or if any work has to be perform, AI performs it with speed and
efficiency.

The boom in the consumption of Al assistance has inspired tech giants to build their own Al programs into their products, with the most recent example being
Microsoft introducing an Al feature in Microsoft word. Many Al models, despite being in their early stages are performing and enduring number of activities.
No table amongst them is the ability to write a code.

The Al platforms possess the power of writing code (although with a few mistakes) within minutes, which is almost equivalent to two days of work then
performed by an individual.

Contemporary Al's effects to break this barrier are quite impressive. However due to the current limitations of those platforms. AI Chabot's are failing to
completely remove the obstacle. In the future, it is predictable (from the rate of growth) that newer versions of these AI models will pave an unburdened and
obstacle-free path for the population to put their innovative ideas into execution. Due to this, the rate of invention will rise expeditiously and creating alarming
consequences if the reform in the existing patenting system is ignored.

Speeding up the process of patenting will help the governments of all nation-states not only to track the new inventions but also to reduce the risk of a further
increase in the burden on the already overburdened judicial system (especially in India). The formation of an International Patent Regulatory Authority should
be fostered by the UN to solely monitor the patenting needs and to reduce the burden on the government of tracking inventions, speeding up patent registration
and dealing with copyright issues.

PASSAGE

Al-LWeTUML® 2-6uah - NLUITET QLI DTG

SalLET

Q&L 03,2023

985 auaTF&ER Qg MSl6LBIL LI MbLIGITET&H 6T ShigeT WML &) QFTHE Al B LIS 2 (HeUTHSH

2615 &6 & Sl 6Tengl.

QFWMen S Hleuoreoor 6 F&HTLIHEHH 60, 60 MTLGLIM6OT LDMHMILD & W6 §)60)600T WL &) 6M600TLIL| 2_6T6IT 6TeU QT TIHEUHLD &60TSI
SIBTMITL QUITLDE 60860 WL 6Ter |G MT&H S (LLLULD. 62(H SHEoTIBLIHEE 6T(DLD TS FHCHHE MG LD, QF W MHend HievoTeoor 6] 62
RWHIGOESILULL Wenmuile Qgalla|uB SSIRMS!, 30608 JCHILD Calemev Q& WILILILIL CeletoT(B)LD 6TedTmmey, Al
MG CaUBINMTEHA D QFWLH ML I QFWUSRMSI.

Al 2_geilulleTt B&Te gHmD QSMSeLHIL LI S3TIDLIGITETE: 60 6T &Mhig6T SWTfILIL &6 ey ShiIG6T Q&ThHS Al BlT60& 6T

2 (HEUME:S SHMEU0TLY U|6TENS), @& M&TeT FISLISH (5 2 HMTT6rTd emn&CTTFTLIL a6l Al 9IDFSHmMS
SMWaSLLGSH WS Liev Al LDTH &6, jaumniler QLTbL &L LSS 6 @hHSCLUTHID, LI QFWLITH SmeTE Q&g
QUMHRBTM6T. UMM e GMUTLemL 6T &I HmeT GMILINLE5555..

Al @WIMNIGSaTEIG6T BILILKi&G6Tlel MU L TSI FHHemUIg G1& Moo (h 6TameT (Flev &6 mIGEHL 6T @) (B TaID), @S
@@ SeoflBLTTL QFWLIWLILRLD B LSS L @ Tevor(h BIT6T Galenevd & FLoln.

@bHS FHOLmW SMHCLMH 2 ML &8 FLOSTeV Al @60T (PWMFRSHET WHH 6D &aUTTeNWILNTE: 2 6T6meoT. @@L e, bS5
HeaTmhigerledr SMHEUTENGW UL &6T STIernmg. Al Chatbot's &6MLemW (LD(HENLDWITES &HHME Seunilell L eor.
qRFTHETVSET 6, QHS Al TH fleef 6T LS W LS LILIGET DS &HET HHhIGET L|SI6mnWITer GUIMEFaeTsHemeT QFWaLIG SS @0
FemIL0 @)6VEVIMTS LDMMILD SEML MM LIS 6 FHLIMHSSILD 6T6TLISI 31&60T aUeT TSR NG 555 60 (hbS! & 6001188 & Falq WIS
@\ G60T BMTTeurnmss, Hevot(HLg Ui eGS0 eflemyalns 2 wWihgl, SmHeunglarer srliyflenn weanmuile ETH S SLI0D
QFWWLILLeN606m6V 6T6TMITEV, LI5S 60T 66066 &6melT 2_(H6 M8 & LD.

STy flenn QFweanenmenw ellenre|Li(h SIS {60)6TH S CHFW 3|8 5561|607 & [T& TG MISEH&H G0 LS W
&He0oT(H LG LIL| 5601618 8560078 T60018:8 2_F6|augl 0L (HILDEVEVITLN6, FM&6TC F& &emLn Q& TeroTL BH) & SHI6emm
enwnlifer (GMILILTEG @hE W meillev) seminen il GLavld SFH &6 G LTSS GMMESHE|D 2 Salld. STl flenin
CH6m6UG 6T LOL (HGLD & 60015 600l 18 &6 LD, &60oT(HILIIL LIL| 8601618 85 600T8s MeuutILILIGI, STLILIflenin LIS el
alemraL®Saiaug Hmib LUSLILFlenn Fl&H05Hm6Ts W MaTalS & WalMMle) OTEMhISGSSH 60T &enlnaiL
GOMMESHAD FTaICsHEF STUIL LD 6D G (LD 26D 600T LS M 2_(H6UTE &6 S &B.5IT 26185 &6 &8 Gaueuor(hLD.

46 What role should the UN play in relation to patenting ?
STl lemnuilev &3.16m.60 60T LiMiE 6T6oTeor?

A: Encourage countries to patent only Al-related inventions
Al Q& TLFLMeT &60or (L1911 &5 6BH5HE L GG &TLLFlend QLM BTH &6 2618 @6 886D
B : Establish an authority to monitor patenting needs globally
2 eusearmail FEUN6L &L flenin G5 6emels:emerT & 600T8 Tetol 1868 @(H HBH &M FemLienl Bl M6 560
C: Ban patents on Al altogether
QFWMen s HievoreoorMley LS meor LI flemneml DMHMNIDTS Seml Q&I Geuesor(hLd
D: Eliminate patent laws together
STl e FLLBI&6T 60TMMS B G6eUSI
47 What is the main concern about the patenting system as Al technology advances ?
QFWMHen & Blevorenot e Q& MU6LEHIL LID (eTGarmilbCUMg &L flenio penmuiled p&&RIW §l& 860 6T6iTeor?

A There is not enough interest in patenting new inventions
LB W HeoorGLI LIL&EH5EE s&riiyflend QUMeuH6 CUTHW SpTalld G666y
B: The existing system may not be able to handle the rapid growth of inventions

SHCLTSIETET SeMmLOLILIM6V &6ooT(HILN G L1L| & 6rfletT aflemTauTent aueTFE&Femid 6M&WITET (LPIQUITLOE GLITEEVTLD
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48

49

50

C: Al will make patents irrelevant in the future
Al THTHETVEH 6 ST Flemn&H 6T QUTHESSDMME TS LOMHMILD
D: Patent laws are too simple for modern inventions
Beleor &evor(H LI LIL&EHEHEG &ML Flem FLLmkigeT &L ererfleminulmerenel

What is the solution suggested to handle the increased rate of invention ?

2 &FHS el LUsETES afssans anmefléas LflbgenTssliu@mL $ie erereor?

A : Reducing the number of patent applications
STl flemin X evoreuor LI erf 60T 6T600T 6001185601860 LI S5 (&60)M &5 5560
B: Speeding up the patenting process
STy flemn QFweenmenw ellemyeL(H &gl 60
C: Limiting the use of Al in patent applications
STl flemin eflevoreoor LILIMIGerlev Al @)6dT LIWeTUML 6L & &L BILILG &S5 60
D: Encouraging countries to avoid patent registration
sTiyflemn LBlemels Seli6s BT([H&em6T 2618 @6 5560
What is one of the key benefits of Artificial Intelligence ?
QFWMHen & Hiecuoreoor (el 60T (LN &G W [HedTem LD & 6160 6260TMI 6T60T60T?

A: Al can make human life more complicated

Al neflg aIMp&Han&Een LO&a LD Fl&&6ME G0
B: Al can help people clear doubts in an organized manner

FHGSH & MIGHEN6T (LDMHIGMESLILLL enmuile Ml ID&SHEHSHE Al 256 LD
C: Alreduces the importance of smartphones

Al 6o I GUmetT&erfledr (N&ERWSSIaISMS & MEHERMSI
D: Alrequires a significant amount of time to solve problems

Al 6@ RG&H0GEMNS G766 GMUILLG56585 6Ta] GBI CHamalliLihHmSI
What recent example illustrates the integration of Al into everyday products ?

eTmmL Wl serfley Al -@)60T 6(HHhIG e 6toTLIemL 6THS FLSLISGHI 2 FTTeuord eNlemTd: &R mSI?

A Google introducing Al to their search engine
FaB6r C5H1UTMIUN6 Al 8 SN WSLILGSH WS
B: Microsoft introducing and Al feature in Microsoft word
GCTTFTLIL Calfiqe) emn&CTTFTLIL MG QFUIS Q& WMENS Hl6uoTesor N6y LilieorLIT(H
C: Apple creating an Al powered personal assistant
U6 AL -ufl6 @UImIEGLD SeoflliLL L 2 gelwmeTeny 2_(HeUmsGHRmSI
D: Amazon using Al in logistics

eumedlenuig &endlev Al 311 LIW6TLI(H &SI Amazon
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